PART -1

General Science  mar P
I, Choose the correct combinations out 1. Profan & @ oft dandt »1 s o
of following- siefa fraraa wzard
(M L ' Ch .
eptotene - Chromosome

attached to nuclear M #=da - T
membrane for=ht & e

(I1) Zygotene - Gene crossing (I wsmgfa . FaAfmmean
over takes place Uefs . fAfoo

(HD Pll:h'ﬂ.m - Smp.i. ﬂ“} . ﬂﬁ'ﬂh
formation Wh

(IV) Diplotene - Chiasmata (1v) fe=né= etz %1 P

A land 1] e

B. Illand IV " Y

C. land IV C. 11y

D. Iland 11 D. n#vm
2. Choose the correct sequence of DNA 2. iy em Mt s ofen =

finger printing techniques from the miﬁﬁﬁm

Mlowing: sAehfem:

(a) Autoradiography (@)

(b) Extraction of DNA (b) #. @ T %7 Freapdor

(c) Southern Blotting (c) HTFGA sATen

(d) Cleavage of DNA by RE (d) wfedg v=mm g0 €. w3, T H FE

O\ a—sb—oc—od—oe
B. es»d—>c—ob—oa
C. bsd—e—sc—a
D. c9e—>d—oa—-b

A a—=b—oc—odoe
e—>doc—oboa

B.
C. b>d—e—>c—a
n

c—aye—sd—an—ah



3. Hypanthodium type of inflorescence is
found in-

A. Euphorbia species

B. Ficus species

C. Asclepius species
¢ Asteraceae species

. TRl ST T A T S &

A. Fiferar g

B. GTEHE A
C, TEyEE
D, TR g

4. Consider the following statements-
(I) A soil Bacterium “Bacillus
thuringiensis” produces “cry-
protein”,

e e O R

M gy 3 gra ST =T S Afrer
2l

(II) The genes encoding “cry- ; AR F T
Pt % II) 'ﬂﬂﬁ'.fllﬂq
protein” can be transferred into (
several crops. _ 21 3 FEE A SN fepan =
(III) Because of “cry-protein” fruit a2l
of tomato remain fresh for a *ﬁﬁ.ﬂﬁ?’%WM%ﬁ
: (1In)
longer time. o 5 e ﬂﬁﬁ!ﬁﬁ#l‘ﬁ'ﬁﬁi
ements

5111;:‘?:1& the correct § AP SR o

A, TandIII A 13RI

B. I and I11 B. Haﬁtm

C. OnlyIII C. Faw

P TandII 5, 1ak

3. In which Phylum of Animal Kingdom, > ST 3 o e o T 1 T

Respiration takes place through “Book Preer T 2T T ¥ e & A
gills” and “Tracheal System”? ety

A. M;BliT t A TR

_B. Echimodermatad
C. Arthropoda B. FRAIGHE]
D. Mollusca C. STyrer

D. HiereH!



6. Read the following Assertion [As] and

Reason [R] carefully and choose the

correct option-

Assertion [As] : Removal of
“kcystnnc“ spemes does not cause any
serious disruption in the Functmmng of

the community,
Reason [R] : The abundance of

“Keystone" species is low,

A. Both [As] and [R] are true and the
[R] is the correct explanation of
[As].

Both [As] and [R] are true but the

6. Fre=rifir srfiver [As] g & (R) &1

ST TR WY frehed i T -
stfirreA [As] :'Hﬂ'd'rﬂﬂ ‘e WAl
1 g2 & A & wrfmafy v A
fery sty b ¢ e B

T [R] ¢ VI SATTer T T[T FH
greft &

A. [As) @ [R] &1 wea € &4 [R], [As]
#t ol saTE B

[As] @ [R] 31 e €, g [R], [As]
oY TTeTd SATEAT 8

B,
[R] is wrong explanation of [As]. '
C. [As] is true but [R] is false. C. [As] E?ﬂtq'{g [R] e &1
D. [As] is false but [R] is true. D. [As] e 8 94 [R] §7 8
Choose the right statement about Cy 7. C4 STEHTST SIS U9 F 91 H get w9 F
Photosynthetic Pathway- RRICACIERS
_A. PEPis CO, Acceptor. A, &4t (PEP), FTH STEATFATES
B, Only one type of cell takes part in R T 2l
panYAY: B, 9T ¥ el G N N F I
C. First CO, fixation product is 3- B
PGA. | ]
T STEATFATEES T T T
D. Only one type of Chloroplast takes “ ol A
part in C4 photosynthetic path. ScTe 3-PGA |
D. C, ST HYSTV 99 & el Th
ST 1 €1 BT T ot ¢l




8. Match the following- 8. frerifa & gd gy 13-

Column-I Column-II -1 w-11

production = 5

(b) PRL (I) Secretion of g !.
Testosterone (b) PRL \ (Il) SRR HTHEN

(c) ICSH (II) Triggers () ICSH/\ (1) avereat &t
ovulation L /TR T Bl

(d) LH (IV) Stimulates i ¥t A
cutaneous (d) LH R SN
pigmentation S 5T @

Choose the correct answer from the A1y g 7 fereperd o & Wl ST -

options given below-
A. a1, b-I1, c-III, d-IV
B. a-IV, b-I, c-II, d-TII

A, a-I, b-II, c-11L, d-Iv
_B7 oIV, b, o1, -0

C. a-IV, b-III, c-1I, d-I C. aIV, b1, c-I1, d-I
D. a-IIL, b-I1, c-IV, d-1 5D, a1, b-TI, eIV, d-1

9. Choose the correct sequence of 9. Pt B & SO UEER A o Sl
enzymes in ETS from below- (TTER) 1 el 60 H SR
(a) Cytochrome-C (a) e AR L
(b) ATP-Synthase ; |
(c) NADH-Dehydrogenase () mﬂ.ﬂ; e
(d) Cytochrome-C-Oxidase (c) TILELES. - SHECIREE
(e) Succinate Dehydrogenase (d) GTEerHE-C - e

- A& a—b—oc—d—oe (e) giee SRmEgieme

B. c—e—a—>d—b A. a—»b—c—rd—e
C. e>d—c—b—a cye—sa—sd—sb
D. b—»>d—>a—c—e

T B

B.
C. e>d—>c—b—a
D.

b—=>d—a—rc—re

..rdﬁ'..—"'.*
= — il



10

The link between Glycolysis and
Kreb's cycle is-

A. Oxaloacetic Acid
B. Succinic Acid
C. Citric Acid

D. Acetyl CoA

10. ety g e = & off= 6

araw w4t b

A, afrrramfirdis s
B, ufkrf s

C. ®mRE It

_p, wehfre s

11,

Arrange the following crystal
struchires in ascending order on the
basis of their atomic packing factor
and choose the correct option-

(a) Simple Cubic (SC)

(b) Hexagonal Close-Packed (HCP)
(c) Face-Centred Cubic (FCC)

(d) Body Centred Cubic (BCC)

(e) Diamond Cubic (DC)

A a<c<e<d<b

B. e<a<b<ec<d

C. b<a<d<c<e

D. c<d<b<e<a

1. Prfrfiae Rrezet doeem 1 37% TAT

d@mmﬂmﬁmmmﬁmﬂﬁ
srafva F0h aft Rrees -
(a) TE A (SC)
(b) it Fifirg-wge (HCP)
(c) FeTH #xa BRI (FCC)
(d) 3t FfEa =T (BCC)
(e) ¥ = (DC)
A a<c<e<d<b
B. e<a<b<c<d
_€ b<a<d<c<e
D. c<d<b<e<a

12.

If a gymnast sitting on a rotating stool
with his arms outstretched, suddenly

lower his arms-
A. The angular velocity decreases.
B. His moment of inertia decreases.

C. The angular velocity remains
constant.

D. The angular momentum increases.

12, g e & areft spamadt 7 et e

& a7 § T -
A. Hivfig 3 F g a8
B. IWH Fg AT FH € A7 8]
C. Fig qn Rut war
__ D7 vt gam s 1



¥ ™
e T——
Wﬂ

13. In the region of constant potential: 13. g fonya & H-

(a) The electric field is uniform. (2) Forera & T €
(b) The electric field is zero. (b) ﬁ%“*“ﬁm
(c) 'rl;l;; can be no charge inside the ©) fie i S sy N
(d) The electric field shall necessarily (d) Torege 8 arTae: &9 § T T
change if a charge is placed a2 T AT 8 & =Te @I S
i Euts:ide th-:*.l region. A Feebalie
: and c on
: Y B, ¥aeiaafic
B. aandc only
C. band donly C. b Rd
D. candd only D. Faac3fid
14. A box of mass 200gm is attached to 14. 200 A F=THM W@Wﬁﬂ'ﬁ%ﬂﬁ;
one end of spring whose other end is ﬁﬁ:ﬁ@%ﬁlﬁ@ﬂﬁﬂﬁ TR
fixed to a rigid support. The ratio of ?ﬁrﬁ'l RsiTr 3 TradeRTeT Sh ST 4T
time period when a mass of 800 gm1s ?ﬁﬂﬂﬁﬂ&[}ﬂﬂﬂﬁiﬁﬂ%mw@
placed inside the box to the time _ ,. N
period when empty box is with spring S @Te! €-
will be-
<+— box
<«— box A 2
X2 B. 5
B. 5 c. 1
g 2
2 D. V3
D: 7 o i g




15,

_A.

In a parallel plate capacitor the
capacity increases if-

Arca of the plate is decreased.

B. Distance between the plates
increases,

C. Area of the plate is increased.
D. Dielectric constant decreases.

15.

TF wte wre wfer Y wfeer w7 wweh @
If2.

A, et wt Gase F0 71 S B

B, At et ¥ a5 @y e B

G w2 % BAE 7g 7 8

D. AT FH 8 e 8

Assertion [As] : When a bottle of cold
carbonated drink is opened, a slight
fog forms around the opening.
Reason [R] : Adiabatic expansion of
the gas causes lowering of temperature
and condensation of water vapour.
Choose the correct answer from the
following-

A. Both [As] and [R] are true and the
[R] is the correct explanation of
[As].

B. Both [As] and [R] are true but [R]
is not the correct explanation of
[As].

C. [As] is true but [R] is false.

D. The [.isLand_[E}] both are false.

16.

S [As] : T4 42 FETEE 99
@W@Eﬂm%a‘riﬁz#aﬁﬁm

FeHT BT & ST 8
T [R] : et 35 TEATSH ST % FTT

ST B STaT & T AT T EEA

g
3 o g Pt & e IO

~tAs] 3R [R] A1 & 3 T [R], [As]
& get ST 2
B. [As]aﬂr[a]a‘rﬁm%qt‘gm], [As]
&t gt e e B
C. [As] T 2 g [R] 7@ &
D. [M]aﬁrm]aﬁa’im%l




E 17. o= ;J*_Ifﬁ-H i1 foeTs #i-

7. Match the followng Tasi-1 wath 1 st-11

List-] List-11 i a=i-11
(a) Gravitational (1) R (@) T[F-HETT'T"T’TT (0 _I_.‘. 2]
constant () ) | ﬁ‘-?m (1) | _
(M Graviation: ( o ; | s A
iwravitattonal (1D I_"'»1 | (b) TE T () M 312
potential energy Ay 3t i :
(c) Gravitational (111 LT* fa
; " = (¢) TEAFdT () LT
potential N = -
(d) Gravitational (IV) | ML:T_E—‘ B e
) _ e = Te—q'm-‘d'm.r : V) | MLT™
mntensity (d) T¢ (V) L r d
Choose the correct answer from the CIEGI
option given below- Frr fow 113 farsre # & wET faweT 99-

A a-IV, b-I1, ¢-1, a-II1
B. a-Il, b-1, -1V, d-1II
C. a-llI, b-1V, c-L. d-11I
D. a-Il, b-IV, c-III, d-1

A, a-IV, b-Il, c-1, d-III
B. a-IL b-I. -1V, d-III
C. a-II, b-1V, c-1. d-III
D. a-II, b-I'V, c-III, d-I

18, afe qfcarer 3 Wi dr8 ST & o A7

18. When number of turns per unit length

of a solenoid is doubled, its self ﬁmﬁﬂﬁﬁm?ﬁmﬁﬁm&ﬁ
inductance becomes- ST

y.e 4t?mes A, 4T

B. B times

C. Same B. 8T

D. Double C. F@ @

) D. AT




19. Which of the following is/are not a 19. Presffae am w1 d=d 781 /8-

unit of time- A TEF
(a) Second  (b) Parsec (@ o (b) i
(c) Year (d) Light year (©) (d) M
A, a,candd A, a,c3ftd
B. aand c only B. Faaafic
C. bandd only e~ Fambad
D:. band o only D. #Famb e
"20. Amange the following metals from 20. Preffiaa ugeil =1 3= faga =
high electrical conductivity to low & et g TeTdT ¥ suafedd Fh gl
electrical conductivity and choose the %mﬂ%
correct option- )
(2) Aluminium  (b) Nickel (a) Tt e
(c) Copper (d) Silver (c) di=m (d) =
(e) Iron (e) EET
A. d>c>a>b>e _ATd>c>a>b>e
B. a>d>e>c>b B. a>d>e>c>b
C. d>c>b>a>e C. d>c>b>a>e
D. b}c}d}ﬂ}a D. b:,c}d}e}al .

21. In an adiabatic process, no transferof 21 weaen et i fipeed 3fiT i &
heat takes place between system & TS T TR T B 8] T
surroundings. Choose the correct Rufy §ww mw%ﬁw R
option for free expansion of an ideal
gas under adiabatic condition from the Freafurfe 3 & e foes %ﬁl
following. A q=0, AT#0,w= 0
A. q=0, AT #0, w=0 B q#0, AT=0,w=0
B. q#0, AT=0,w=0 Cc. q=0, AT=0,w=0
C. q:HD, AT:O,W:D D. q:D’ ﬂT{{},W#U
D. q=0, AT<0, w#0 -




22. Schottky defect is observed in crystals
when-

A. Some cations move from their
lattice site to interstitial sites

B. Equal number of cations & anions
are missing from lattice

C. Some lattice sites are occupied by
electrons

D. Some impurity is present in the
lattice

22, et ® gtz Ay aa S BT, e

T 370 ST T &
pk/g';mawsﬁmﬁﬁawﬁﬁ
IR
B. STeh ¥ GWH &A1 H YAEA G
FOTI FIRYT B &
C. T ST T Faragr| g STt
GRS

D, ST ¥ 31 Sed Iufter it @

23. For an electrophilic substitution
Reaction of nitrobenzene the presence
of nitro group -----

A. Deactivates the ring by inductive
effect

B. Activates the ring by inductive
effect

C. Decreases the charge density at
ortho & para-positions of the ring
relative to meta-position by
resonance

D. Increases the charge density at
meta-position relative to the ortho
& para-positions of the ring by
resonance

23. TP Y solaR hieTsh NTaedTa
wferfshan , Tegr T i suftufd -----

A, FTTEATERS WE o Tor @ At
e

B. STTETeRe: STa & Tom =t wiera &t
8

€ T e R 35 e o 3
Tt 3T FO-deiTe WS O S
Bl ST &

D, SR g o 3 et of g
QI 3 FTie Her QisiyE | =TS
T G W1



24. Which of the following statement is

not correct?

A. Copper liberates hydrogen from
acid

B. In its higher oxidation states,

Manganese forms stable
compounds with oxygen &

fluorine

C. Mn>* & Co™* are oxidising
agents in aqueous solution

D. Ti?* & Cr** are reducing agents
in aqueous solution

24, =¥ - FYE O T 87

/ﬁ/mmﬁtﬁm@mﬁﬁmﬁt
B. o aradaor avaeyr § i,
Sifrefter Tt vt % AT T

dfivep wmelt &

C. Mn** @ Co** wrefia e i
st A 8

D. Ti** w Cr?* wefrg e o
YT HANYFHF &

. Match the integer ratios given in

Column-I with those in Column-II-
Column-I Column-II
(a) Oxidesof (I) Global warming

sulphur

(b) Nitrogen  (II) Red haze in
dioxide traffic &

congested areas

(c) Carbon  (TII) 'Blue baby'
dioxide syndrome

(d) Nitrate in  (IV) Respiratory
Drinking diseases
water

Choose the correct answer from the

options given below-

A. &IV, b-II, c-I, d-III
B. a-I, b-II, c-III, d-IV
C. a-III, b-II, c-1, d-IV
D. a-Il, b-III, ¢-1V, d-I

25, Frem-17 R ! Fem-1 ¥ Ieiaa
o7t & firerma-
(a) HEH F I) e S

SIECIES]
OELCEE ) T
ETESHATHATES drevys I
W H AT Yy
(c) e E}H} o i fRigm
SIEATHHIES
(d) Foeie & (IV) Ta&= gaHt T
F R g Ryt & & w1 I -
A a1V, b-1I1, -1, d-II
¥B. a1, b-II, c-III, d-IV

C. a-IIl, b-I1, ¢-1, d-IV
»D. &I, b-1II, ¢-IV, d-I



26.

In the following molecules carbon
show sp> —sp? ~ sp* hybridisation,
A. CH; -CH,4

Bl CHy-CH=CH,

C. CH;-CH,-OH

26, Prffea aropadl Hanfg qomy

sp’ —-Lv.p2 —gp? HERTUT AT S T B
A. CHy-CH,

B. CHj~CH=CH,

C. CH,~CH,~OH

D, CH3 -CHO D. CH, ~CHO
27. Two statements are given- one 27, v Ry - R o e
labelled as a Assertion [As) & the [As] auT {a’( %1 7T (R B oA fonar
other labelled as Reason [R]. T d
Assertion [As] : Receptors are crucial Ao
to body's communication process. SR [As] : YRR
Reason [R] : Receptors are Proteins, wfsrar % ferg et &1
Choose correct answer from the FOT [R] : Fedreee s &
following options- et o g et # & weh 3o -
A, Both [As] & [R] are true & [R] is ,{ it (R A5t T &
the correct explanation of [As]. AThs) AR [R] I TR T [R] [As]
B. Both [As] & [R] are true but [R] is L N
not correct explanation of [As). B. [As] 3R [R] 2T weft & 6 [R)
C. [As] is true but [R] is false, [As] % et s et e B

D. [As] is false but [R] is true,

C. [As] %8 & ueeg [R) Tea &1
D, [As] e & 9o [R) @ &

28,

The order of decreasing ionisation
enthalpy in alkali metals is-

(I) Li

(II) Na

(IIT) K

(IV) Rb |

A, (I)>@H>1I) > (1V)

B (IV)< () < (M < (I)

C. (I)>(I)> [ >1V)
D. ()< (D) <D< (V).

™

R =

28,

AR et 3 e Gt e
5 &

@ Li

(1) Na

() X

(IV) Rb

A. (0)> (D> (D) > (IV)

B. (IV) < (II) < (IIT) < (1)

C. (> (0> (1) > (V)

D. (I < (1) < (II) < (IV)




— i
29, If amines are arranged in increasing

order of their basic strength in gaseous
phase, then the correct order will be-
() NH;
(I (CH3)NH,;
(11T) (CH3), NH
(V) (CH3)sN
A. (D <D< (V) <)
(D<M <1Iv)< (1)
c. (IV)< )< (D) <)
D. (1)< ()< (D) <{V)

29, afy Qefteh wy Hrefrer vt # S WA YU
T e 3 ey st e
ST A o 7 -

(1) NH,

(1) (CH;)NH,

(I11) (CH,), NH

(IV) (CH3)3N

A. ()< (1) < (IV) < (IID)
B. (I)< (1)< (IV)<(N)
C. (IV) < (11T < (1) < ()
D. (I) < (1) < (1) < (IV)

30. Which of the following of option is

correct?

A. Micelle formations by soap in
aqueous solution is possible at all

temperature

B. Micelle formation by soap in
aqueous solutions occurs above a
particular concentration

C. On dilution of soap solution
micelles may revert to individual
ions

D. Soap solution behaves as a normal

strong electrolyte at all
concentration

30. P § & #i &1 e wel 82
A, el vrer & g ar fordrer i fmior
auft T T EE B
B, et sier & | g et B T

e Py T & IR BT
C. W 3 vivet ot el i e
ST~ 7T TR 3 ST S Fehd §
JDfF@qﬂthamﬁmmﬁ@m

AT TAFEICIEE o T4 H SHaEm
2

;

i

31,

“Shri Anna” recently in news
associated with-

A, Pulses

B. Oil seeds
C. Food Grain
D. Millets

31, erer & & Sl oft o TR

A, TR
B, foemed
C, G~

B A s (i)




32, Arrange these Cities in descending

order in ncc?rdnnun with duration of STyTC T aeR A1 & H o) A
Monsoon rainful]-
(n) Mumbni (b) Shillong, 1 I
(¢) Jaisalmer  (d) Leh () Hﬂ (b) et
(¢) Chennai (c) dwent (d) &8
A. b,n,¢,d, ¢ (c) W=TE
B. ¢,¢,d,n, b A. b,a,e,dc
C. ¢,e,n,d, b B. ¢c,e,d, b
D. d,e,0,b,c _e7¢en,db
D. d,enb,c
33. Physically Indin {8 geseees, 33, iiferen wq # VR Qheneenne B
A, Peninsula /,A’W
B. Island B g
C. Continent
D. None of the above C. s
D, 8 & % e

34.

Assertion [As] : Golden Quadrilateral
Plan, which links major 4 cities of
India Delhi, Mumbai, Chennai,
Kolkata.,

Reason [R] : Because geometrically
looks like Quadrilateral Shape.
Choose the correct answer from the
following-

A. Both [As] and [R] are true and [R]
is the correct explanation of [As],

B, Both [As] and [R] wrong,

C. [As] is correct but [R] is wrong,

Both [As] and [R] are correct but

[R] is not the correct explanation
of [As]. r—

o

34, afieryT [As) : Wi S A

Rreett, ok, 2w, e = st ¥
HTOT [R) ¢ S SRR SRR 3 =gt ot
e ferdt )

frer g eyt & & et e -

/,,A-.“” 3T [As] 3 [R] et & ot [R), [As]

1 T} VT e e 8
B, 2t [As] 3R [R] e &
C. [As]qe & Remg [R] e B

D, 2rf [As] 3R [R] ¥t & 0ig [R], [As]
ol T ShTOT S Tt et B

_-r--l‘ﬂ"'—\_'l- —



G?Gcnemlly India gets rain through-»----

35, v % wrrraaT i vaer & avt B R

winds.
A. South West Monsoon - A Eﬁmm"fﬂ‘ﬁ
B. Tornado B, A
C. Cyclone C. Iward
D. North Eastern Monsoon D, 3ot qeff AT
#E-GT_Which gas is found abundantly in 36. a'rgq"saﬁﬁaﬁiﬁﬂq FTE
here?
atmospnere o A _— m
A, Carbon dioxide
B, 3TSH
B. Oxygen .
C. Nitrogen _/C'/:”‘iﬁ':'
D. Helium D. fiferam
“37. Arrange Rivers from North to South 37, e 1 qd oY 37 aried B ATt Afedr
systematically in India flowing I R H FATTHR SHTEL-
E:;vﬁ;?St- (b) Ganga ®) (B) T
(c) Mahanadi (d) Krishna (c) wET S el
(e) Godavari o ORIEIEL
A, c d: c, b: a }E‘A- c, C_I: g, b: a
B. a, d} c, ba < ){B. a, d,. c, b, e
C. b,c,ed,a ~C b,c,ed,a
D. b,c,d, e, a D. b,c,d, e, a
38, What is Nathu La, Shipki La, Bomdi 38. Aoy T, faraeh @, wwel o 3 sfer &
La and Zoji La? T8
A, Ocean A. "R
B. Ri:er B, 7@
C. L
’ C. #id

i D. Pass



3% Ranganathittu (Karnatakn) Bharatpur
(Rajusthan) s nssociated withese=---

A. Wildlife sunctuary
B. Bird sanctuary
C. National park

39tz (FTeeR) YRAE (T gy
e - §

A, g i Iy

__ B et anvrameg

D. None of the nbove C. mqﬁ?
D, ¥ & T
40. Match the following: 40, Frafeaflen gafera ifore:
List-1 List-11 gﬁ_ﬁ_l -11
(a) Green (I) Fisheries waFEf (1) Ao
Revolution (8) o aﬁ'{‘f‘!ﬂ?
(b) White  (IT) Meat and Poultry (o) Eamifa (I
Revolution Production e
(c) Elucl (I1T) Agriculture (© feftwf  qm P
evolution
: , ‘ (d) e wly (V) g9 I
(d) Pink (IV)Milk Product
Revolution e e gt forerett & & Wt S -

Choose the correct answer from the
option given below-

A, b-lV, c-l, d-II, a-I11
B, c-lI, d-I, b-1V, a-III
C. a-1V, b-III, c-I, d-II
D. d-Il, c-I1I, a-I, b-IV ¢ i

__ATBAIV, e, d-T1, a-I11
B. ¢-II, d-I, b-1V, a-III
C. a1V, b-11l, ¢, d-1I
D. d-lI, c-II1, a-1, b-IV




41, Armange the following steps in the

correct order for effective saving and

investment planning,

(8) Assess your current financial
situation

(b) Set short term and long term
financial goals

(c) Create a budget to manage
income and expenses

(d) Research and choose appropriate
investment options-

a—*b—c—d
a—>c—>b—d
b—a—c—d
a—b—ad—oe

O 0o w»

41, st T ofR Py aver % R

PR i = wdt 7 & srafiya

ol

(a) 1At arcim farfers fReafey a1 et
il

(b) TEaIRT O AT Rif @
fruff =1
HqE R F

(d) 3 frdw feredt i @i Sl =g
E(

A. a—=b—c—d
—Br a—c—b—d
C. b»a—c—d
D. a=b—d—c




42. Which of the following best describes

a common physical change during

adolescence?

(8) Decreased height growth and
delayed onset of puberty.

(b) Increased production of sex
hormones leading to growth
spurts and development of

secondary sexual characteristics.
(c) Consistent weight gain without
any change in body composition,
(d) Stabilization of hormone levels
resulting in a decrease in acne and
other skin conditions.

b,candd
aand b
candd
. onlyb

o 0w p

42, Pt & @ F &1 aT Rran

a0 e arET T aREee ey

a7 s aftfa e §-

(a) St g F ol AR DT R

7 &l

) mmaﬂmmﬁf@
gfte = afit fforares o st
forprar g B
SUIGKEEEECST]

(d) BT T T fRer BT v i
afie 7= o= weeredl ST eIt
2

A, bc@d
B. a@b
C. c@d




m1 the following.
Column-I

(a) 'XX'chromosomes

() ‘XY’ chromosomes

(¢) "SRY" Gene

(d) ‘Sex Linked traits’

Column-I1

(1) Chromosome configuration that
results in a male individual.

(II) Gene found on the Y
chromosome that initiates male
sex determination,

(11T) Chromosome configuration that
results in a female individual,

(IV) Traits that are inherited through
genes located on the sex
chromosome

Choose the correct answer from the

options given below-

A. a-IIl, b-l, e-II, d-IV
B. a-], b-II, c-III, d-IV
C. a-IV, b-III, c-II, d-I
D. a-l, b-IIl, c-IV, d-II

43,

Prefefea gfera fRAfsme-
i

(@) ‘XX’ FIEERR ()

(b) ‘XY

(c) ‘SRY’ i (Rim frrfror &)

(d) ot i S T
Gl

(n  Torgs fmme e gfomeEEd
7% UF 7F9 AT 8

(1) Y’ U O G747 <A1 e S
Y g ff Frerfter =Bt sy
8l

() Torg frmme fre it @
o8 T Hieer St &

(1v) & T =i fom o ot R
S o AT % farea o faet @)

Frr g 2 forepet & & et I -

/m’ a-ITI, b-I, ¢-I1, d-IV

B. a-, b-II, ¢-III, d-IV
C. a-IV, b-II, c-I1, d-I
D. a1, b-III, c-IV, d-II

44, Actions that benefit another person 44, W%t < Rt o= =afes & e g
without any expected reward for the 2, for v & foru et Ty it sefie -
self-

A, Empathy 2 W

B. Prosocial behaviour B, SETHIS S8R
C. Discipline C. sgamed

D. Moral Development AT Ao



45. Armange the following steps in the
correct sequence for creating a

harmonious colour scheme in Interior
Decoration-

(a) Choose a primary colour,

(b) Select complementary colour in a
colour wheel,

(c) Determine the colour distribution
and balance.

(d) Consider the room’s lighting and
function,

A, a—=b—oc—d
B. d2a-b-oec
C. a=d—-b—c
D. d3c—b—a

45, a7ife genEe A giReEq faem
T & fore PR <ot =t &l sy
sqaftyd Hl
() mﬂﬁ'ﬂ?fﬂﬂﬁl
(b) T = e 4 T S
(c) &1 Firercor afk digem frvife =4
(d) T srmar o Reerfr afe = &

o # @l

A, a—>b—c—d
_Brd—-a-b—c
C. a=d—=b—c
D, d=c—b—a

46. Which Nutrient is crucial for

maintaining strong bones and teeth in
a growing family?

A. Carbohydrates
B. Protein

C. Vitamin D
D. Mineral

46. wga g IiEm # gt S atar i wsd
AT @ o T I BT 9 7o
ol 87
A, FEEES
B, WM

~ Tefmd

D, wEu

47. Which step in the decision-making
process involves evaluating different
options to determine the effective
actions?

A. Identifying the problem.

B. Gathering information. -

C. Analyzing alternatives.

D. Implementing the decisions.

e

47. frob o <t o & i & =i 8 wwret
st =it fefeor s 3 foe farfre ferehett
T T AT e 67

AT Sl IE S
B, a1 TR FHAI
C. fershed =1 qeais T
D. fvia = swmitas Sl



H#:MM_U e SR Ty sy
E a8, How does Slothing nflugnce y

|
}
?‘_
:
i
!

|
|
I.

persot’s peIsonslity payo
socisl setting? ¥ paresption iy

A Clothing has no fm o1 o)
personslity p#rwmﬂm,

B, Clothing only affag
in forms) seting & personmlity

'S 1’-':!1 clmfm clothing can enhance
confidence and reflecy DErsonAl

S M

wifes w110 ot Ml sovnies ik )

A, fiagia wiftesy v A e
CIGLL

gy, ufeagys e oot st
wiftnent 4 vl ffoiet i) B

137 udyni iy ;gf, i et

it W o B o it 1 o1
yafites 1 it B

1y, st wifos oy et o ot
A B

pecumilation of excessive Jnetlo nald 49, WU H st fn ftas iy e

n the muscles result in type of
{ztigue

(2) Psychological fatigus

() Physiclogical fatigue

(c) Headache

(8) Boredom

Select the correct answer from the
Lollowing options-

A zozndce

B Oulyd

C beczndd

D. czadd only

-~

iy fonmeae) s w1 i e B

(x) Wit v

() Wi s

(g) ftynd

(d) |

fiesyfieafigm Tl 1 & o) gt o1 wtid
s

A, #,bH
B e b

¢, hovdd
D, ¢v4d%am



. I oy
50. The Consumer Protection Act 1986 50. IvirewT wET AU 1986 7% Hffiny
ensures that- & 8-
Assertion [As] : All products sold to e [As] ;Wﬁﬁmﬁm
consumers must meet specific e Exfire Safem ToTET
labelling and quality standard such as w : ;:‘:: m
'ISI', "AGMARK " and ‘FSSAI', #3 IST", ‘/AGMARK" #R ‘FSSAL' )
Rensn:n [R] : The purpose of these EETH-TI-'{TEI'IﬂQI
ey o potiiad TR
ensure the quality an.';- s:?;frc:f " aﬂﬁﬁ . v
products in the market, LIS # ! mwm
Choose the correct answer from the AT 8l
following- A frw o Rt # & gE I -
A,
At L A R SRR
B. Both [As] and [R] are true but [R] (s sl 8
is not the correct explanation of B. @t [As] 3 [R] ¥e & 9 [R],
[As]. | [As] it Wt =mEar 74 3]
E. Ei:% s ?‘l.:e b]:ll [[RF{ . false. C. [As] & ¥ afF [R) @ ¥
. Is false but [R] is true.
] D, [As] HE § & [R] T &I
S1. The population interaction between 51. e TRt fra ford e o7 308
Cuckoo (Koel) and Crow, in which P F e § 39 I8 &7 (F9gE0) TN R
Cuckoo (Koel) lays its eggs in the nest 7% IEET -
of Crow for incubation, is an example
of- __AEeifem
A, Commensalism B. QRO
B. Mutualism C. @t
C. Competition D. 3T qEREE
D. Brood Parasitism - — 5



p—— gy
51, According to Allen’s Rule, the

mammals from colder climates have-

52, e % P o TR 38 ey AT -
st 7 et 8-

Shorter e
QD Longer cars (V) Shover iy~ @ T (0
A T&INI @ sRrER (V) BRIE
B &IV A, T
G &IV B. liahtIv
D. LY c. maRIv
“1afRIv

53. As we move away from the equator

towards the poles, the species
diversity in general-

A. Increases

B. Decreases

C. Remains same

D. None of the above

53, vmer van 4 Yyt 3P SR ST TS
Ryfererar aTAT:-
A, T8l

_B gzt d
C. guTad i el 3l

D, % & HI§ ot TE

Arrange the following events of

Xerarch succession-

(a) Growth of Bryophytes which
holds soil.

(b) Replaced by higher plants.

(c) Secretion of Acids by lichens on

Bare rock,
(d) Formation of stable climax forest

community.

(e) Climax community remains
unchanged fill stability of
environment.

a—b—c—d—e
c—a—b—d—oe
b—>d—>a—c—¢
d—a—c—b—e /

o 0wy

54. Wﬁaﬁw%mﬁa’rw
TG

(a) SR I BI Gl 1 I

(b) =& et g feu|

(c) TR ERT STgT T ST 1 T

(d) AR AT R & FHE T H 0

(e) SRFETAT FHET T {2 1 5

e e Bl

_A-aob—rc—rd—e

B. c>a—b—>d—e

C. b>d—a—c—e

D. d—»a—>c—>b—e




55,

The net primary productivity can be
calculated as-

NPP = Net Primary Productivity
GPP = Gross Primary Productivity
R = Respiration losses

A. GPP +R =NpPP
B. GPP -R =NPP
C. GPP x R =NPP
D. GPP + R =NPpP

55,

Yo Sl SRR ST ) S e
l'H.‘:ﬁ.d’f- _ﬁmﬂﬁﬁm
ot ot fY, = et WTU e S

A, Gﬁ.‘ﬂ.‘:ﬁ. + AN = ﬂﬁiﬁﬁ-

_ B S, - 3= LeRiRf

c. sdid x JW =,
D. shifidt + AR =" d

56,

Arrange the following organisms
based on their decreasing trophic
levels-

(a) Birds, Fishes, Wolf

(b) Man, Lion

(c) Phytoplankton, Grass and Trees
(d) Zooplankton, Grass, Trees

A a>b>c>d
B. b>d>a>c
C. b>a>d>c¢c
D. c>d>a>b
TR A

56.

et o SR @7 & e SRR
T FHEE hITT-

(@) vuf, wofemt, afm

(b) ¥, |

(c) 9TRY e, I U5 g5

(d) g v, Regg

A a>b>c¢c>d

B. b>d>a>c

—Lrb>a>d>c

=Dt >d>a>h




" 4
57, Directions for Assertion [As] / Reason

[R]-

Assertion [As] ; Predators are prudent
in nature.

Reason [R] : If a predator {s too
efficient and over exploits itg prey
then prey might become extinct &
following it predator will also become
extinct for lack of food,

Choose the correct answer from the
following options-

A. Both [As] and [R] are true and [R]
is correct explanation of [As],

B. Both [As] and [R] are true but [R]
is not correct explanation of [As].

C. [As] is true but [R] is false,
D. [As] is false but [R] is true.

57. arfiyd [As] f Hwor [R) Wt & fg

-

s [As] : Sl & qoveht et 81

HOT [R] : S AT 4TeT € 28 ¥ S

oty a7 Rreer 7 iR L A @

aaran & R R € g of yed we

& anrer # wovedt oft fRrgw 8 e

sy g e Feeelt 3 & ) IO

A. [As] 3 [R] 3T e & 3T (R],
[As] %t wet = ¥

B. [As] 3 [R] 3l & & @fe [R],
[As) Tt =aeH 7 8

C. [As] 9 ¢ AT [R] E B

DA TAs] e & A [R] 77 8

Match the following animals with
their location-

(a) Dodo (I) Affica
(b) Quagga (I Russia
(c) Thylacine (IIT) Mauritius

(d) Steller’s sea cow (IV) Australia
Choose the correct answer from the

options given below-
A. a-1, b-III, c-II, d-IV
B. a-IV, b-111, c-I, d-II
C. a-III, b-1, c-II, d-IV
D, a-Ill, b-l, c-IV, d-1I
i

(c) UTEIe (1) AR
() RERTFTE (IV) ARG
A g g fereredt & & wdt SO

A. a-1, b-111, ¢-II, d-1IV

_B a-1V, b-111, ¢-I, d-II

C. a-III, b-I, c-II, d-IV
D. a-II, b-], ¢-IV, d-II




3% The thickness of the ozone in a

—
"y Wtﬁﬁmﬁﬁﬁﬁ@ﬂ?%

= EARTA R S
column of air from the ground to the HTEHN {mﬁaﬂaﬂ? S
tap of the atmosphere is measured in wrar R
terms of-
gog ~ A, Yeirwe (o) giRe
A. Decibel (dB) units
B. Pascal (Pa) units B, 9 e (V) I@E
C. Dobson units (Dy) C. st I (¥
D. Svedberg unit () D Qﬂﬁ{ﬁz‘{@’]
ﬁ_-"h
60. Decomposition is largely an oxygen 60. aqwes o whwar & e i

requiring process. STavTEar v
The rate of decomposition is L TR R0 TTE! AT FUR
controlled by chemical composition of & TS ST T AuiRe 't &
detritus and climatic factors. TR § A §
Decomposition rate in particular Rt seagaiT 3
climatic condition is- : -
(I) Slow in lignin and chitin rich @ i et & ot oo e A

detritus ﬁ{ﬁ:ﬂ' .ﬁ. Wﬁ
(II) Quick in nitrogen and water e

soluble substance rich detritus ety aaﬂ?ﬁt:;aﬁl ekl ﬁ'ﬁ:l e
(IIT) Slow if temperature is high ERACRU] R
(IV) Fast if temperature is low (D) H 8 R SR SST A R
A 1&10 (IV) er BT & 3R Frm e ar
C. I&III B. 1alkIV

F
D Ty C. nmafm
bRV

S P




PART - II
General Studies ATHTAT TS0
61. M:::hlitﬁe Organic brands of the State 61, 1 ¥ S wr w7 i e Al
colmecLly.
; w1 =]l

(a) Agar (). Rajnandgaon o Bl

Bioproducts (b) HTET fw an ol
(b) Arug Organic  (I1) Dhamtari (c) Fx i~ (11D) Href
(¢) Rudra Organic (1I1)Mungeli (d) FpE - (IV) FER W
(d) Mackles Nature (IV) Kabirdham A P 1 et 3 & T FOE-

Choose the correct answer from the
options given below-

A. &Il b, ¢-II, d-IV
B. a1, b-II, c-III, d-IV
C. &IV, b-III, c-I1, d-I
D. eI, b-IV, c-III, d-I

/A’./ g-I1I, b-1, c-II, d-IV

B, a-l, b-II, c-II1, d-IV
C. a-1V, b-I11, c-II, d-I
D. eI, b-IV, c-III, d-I

62. Match the following- 62. et gafm RRfm-
()% - Book TR Sl
T T lsge ) Rz REie @ FFAANFAT
Tikariha Kaan la ) e 2T 4 (1) -

(b) Girivar Das (II) Chhattisgarhi
Vaishnav Suraj

(c) Koduram (III) Naak me Chuna
Dalit '

(d) Mehattar  (IV) Kanva Samdhi
Ram Sahu

Choose the correct answer from the

options given below-

A. g-III, b-II, c-IV, d-I
B. a-L, b-II, c-I1II, d-IV
C. a-IV, b-I1I, ¢-II, d-I
D. a-II, b-III, c-I, d-IV

LY -

(c) FquAEE () TF A T
(d) FERIAFTE  (IV) e el
Frey g g Rt # & ) ST

_A a0, b-T0, -1V, d-1

B. a-l, b-II, c-I1I, d-IV
C. a-IV, b-III, ¢-II, d-I
D. a-Il, b-II1, c-1, d-IV




63 o o fove B @ o 87

63. Vinta Valley is related to which
ion?
region? ‘ A FRE
A. Kabir Dham
B. Jashpur B. ¥
C. Raigarh C. Tag
D. Bastar ) _p, 71
64, The Sharabhapuriya rulers were 64. T IITEE 8T ¥ A e o &
mainly worshippers of which religion? T 3
A. Vaishnavism Aarrg g
B. Shaktism A o
C. Shaivism H; WS
D. Buddhism C. fmw
D. steg vd
65. Choose the correct option for the @?:} 3 R o e [As] F [R] F
Assertion [As] and Reason [R] given fore ot fasrew gi'r
ﬁ““r’é i U [As] : TGETE TSR F IR IR
sertion [As] : The rivers flowing o —
from the north and south of the mﬁaﬁw R S A
Baghelkhand Plateau have created STt SR TETEHT o T AT 8
caves and hills through their rapid T [R] : ST ST TeuR ey & 5
ETOSiOnL ' e TG eI HE T
,- Reason [R] : Their sandstone is soft
| and cannot withstand water erosion. A. [As) ¥R [R] EHT §e9 & 3 [R],
| A. [As] and [R] both are true and [R] [As) #r Tt saTET &
is the correct explanation of [As]. B. [As) 3 [R] 3Rt wead 3R [R],

is not the correct explanation of
[As].
C. [As] is true but the [R] is false.
D. [As] is false but the [R] is true.

C. [As] ¥ & ©ifF [R] ST R
D). [As] 36 & Al [R] 90 B

3

SPACE FOR ROUGH WORK / 1% &1t & Ry s

o IR & san
. / |

kL



it
66

e

Make the co

musical immmfgm$ ’ﬂ::h

[H] Mohari ﬂ'} Mulicnl inlwmmt
Similar to Dampy

(b) Raigarhi (1) Clarinet i ;

(c) Pitorka  (III) Dried soutd ghal

(d) Tamura (IV) Goblet shaped

musical Instrument

Choose the correct answer from the
options given below-

A. a-l, b-II, ¢-I11, d-Iv
B. a-Il, b-I, c-IV, d-I11
C. e-IlI, b-1V, ¢-II, d-I
D. a-IV, b-II, c-11, d-I

66. welrerms % sy a3t & g f ol W
LEl ol

.l w1l
(a) dteft (1) HE FEEE AU Ay

(b) TATt (1) TR AT AT
(c) Pt (1) T ool = e

(d) T (V) e e AT
FTEAT ATTET
A1 g e Pt o & Wt I -

A. a-l, beIl, c-II1, d-IV
B &Il bl, eIV, d-1
C. a1, b1V, ¢-1I1, d-I
D. a-IV, b-III, c-II, d-I

67,

According to census 2011, select the

correct option in the order of highest

to lowest population density in the

following districts-

A. Durg, Raipur, Mungeli, Janjgir-
Champa

B. Raipur, Durg, Mungeli, Jangir-
Champa

C. Jangir-Champa, Mungeli, Durg,
Raipur

'D. Durg, Jangir-Champa, Raipur,

Mungeli

67. wToET 2011 % Srgen e fred # 5
o & T T ST § F F

e farereT 7 597 -

A, 1, T, e, sfere-<ier

B. T, T, e, sferfie-Star
_C, Senfi-atT, T, 31, TR

D. F, Siewiic. =T, T, g

s (TN o2

SPACE FOR ROUGH WORK / T w4 & férdr wrmy

51 SetD
\



68.

What is not correct regarding to the
rulers of Sharabhapuriva dynasty?

A. The maximum number of copper
plates have been found of king
Mahasudev Raj.

B. King Mahasudev Raj was the son
of Prasannamatra.

C. Sharbhapuriva dynasty made
Sirpur his second Capital.

D. Sudev Raj also had authority over
Arang.

68. Wmtm#mﬁﬁ

ELh

A mq‘g‘;g&ltﬂi‘ﬂﬂ‘“ﬂ“
gt

B. T NETERS U FESA I

C. yRwgdw s ¥ v ¥ Rap s
S G TR

D, FRETS 7 T o FRw

69. Which of the following tribes is 69, ﬁﬂﬁ‘ﬂ‘ﬁﬁ!ﬂﬁﬁ!ﬁﬂﬁfm# T
believed to be derived from Ban? Tt e &
A. Bhatra A WA
B. Bhaina B &
C. Kandara
C. &80
D. Dhanbad .
D, Y ERE
70. According to the Economic Survey 70, 3xife wdaer 2023424 ¥ WIER vETY
2023-24 which sector has the highest wmm“mm WY T
sectoral growth rate of Chhattisgarh's g gty w kg @y w1 aeiw b
gross state domestic product at kU
constant prices? A FN
A. Agriculture B. sf®
B Ry e 3em
C. Indus
& D. #at

D. Services

!

~ SPACE FOR ROUGH WORK / T T ¥ for wmy

o (o o ser
1l ,



1. when did the Suba

7. mﬁwmmmmwﬂ

start in Chhatisgarh? !
A. 1785 AD. A, 1785%
8. 1787 AD, B 1787%,
C. 1790 A.D, C. 1790%.
D, 1795 A.D. D. 1795 %,
72. Match the following- 72, Preferfas gafer fef-
: }Elmﬂdm Related Records T i sfierd
a)Naren - =ik
(I prardiga v (&) @ e awe
(b)Indrabal  (II) Malga Bilaspur (b) ¥FEE () e frerE
Copper Plate A
(¢)Tiwardev  (III) Adbhar Copper (c) daEs (II) TR AHTA
Plate
, ) (@) 7 Rt (V) s A
(d)Nannaraj-IT Boda Copper
mmm e P Ryt 8 & Wt 3 -
Choose the correct answer from the K a1, beII, c-IV, d-I1T

options given below-

A. a-, b-Il, eIV, d-1I
B. a-, b-II, ¢-II, d-Iv
>, a1, b-1, eIV, d-III
g-11, b-1, c-III, d-IV

B. a-l, b-Il, c-11I, d-IV
C. a-II, b-l, c-1V, d-III
D. a-II, b1, -1, d-IV

SPACE FOR ROUGH WORK / 7@ rd 3 fords s

s INIINHNTRE s seen



73. Assertion [As] : In Bilaspur District,
the non-cooperation movement started
from Ratanpur, where the movement
was led by a young man named
Sadashiv Rao Harpal.

Reason [R] : On 7 February, 1921 at
Gandhi Chowk in Raipur, Pt,
Ravishankar Shukla and Narayanrao
Meghawale called for carrying out the
alcohol prohibition program seriously.

Choose the correct answer from the

following option-

A. Both [As] and [R] are true and [R]
is the correct explanation of [As].

B. Both [As] and [R] are true but [R]
is not the correct explanation of
[As].

C. [As] is true but [R] is false.
D. [As] is false but [R] is true.

gaw 4 fERari
#1007 [R] : 7 FE, 1921 %1 TATC H 7T

aﬁmmﬁ,tﬁﬂﬂw#ﬁm
ﬂqmﬁinuﬁﬁummmﬂmﬂwﬁ

=1 TR Al
1 R o et & & W IR

A. [As] @ [R] 3T &€ E, M [R],
[As) 1 T =TT B

B TAs) @ [R] 1 &€ &, R (R],

[As] T =g TE ¥
C. [As] @€ &, T [R] 7o B
D. [As] e &, 7iq [R] ¥ET &

74. Which of the following Kalachuri 74, i 3 & i sererl) T 3w
ruler had defeated and captured Riger TTTETT IITEE VAR T QUi F
Someshwar the Chindak Nagvanshi = 5T S e
ruler of Bastar? |
A Fatarti] A. TS TOH
B. Jajalladev-I B Seeeed SuH
C. Prithvidev-1 C. qutes yuw
D. Jajalladev-II D. wTweees g

FOR ROUGH WORK / % %Td % forar arry

T TR
:
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N T
7%, Who gave birth to public Ganesh
o Dhamtari in 1910 A.D? otsay 75, 19101,  triertt & R R

mivieda #1 7 fam
A. Pt. Sundarlal Sharma -
B. Baburao Dani A %3
C. Nathuji Jagtap B. Ty 7T
D. Yashwant Rao Meghawale P
D, e T Ao
76, In which district of Chhatisgarh 6 o 5 P Pt ity St
Degori Industrial Centre in Situated? Rua
. Rai
A. Raigarh A 7O
B. Mahasamund 5
C. Bilaspur .
D. Bastar -r’GJ'/ 3
D, F&R
7. “Gollector s defined in which code? (7)) "R forg wfan & wfonfya A=
A. Chhatisgarh Land Revenue code ¥
1955 A g v Wi 1955
B. Chhatisgarh Land Rev cod .
T e co%e B, g Y dfba 1957

C. Chhatisgarh Land Revenue code C. THeTg YU digar 1959

1959 .
_ D. TR U wigar 1963
D. Chhatisgerh Land Revenue code .

1965




T8, Which pair of Tndustrisl region end
district in mot properhy matched?

A. Siltara - Raipur
B. Sirgiti - Bilaspur
C. Borsi - Durg

D. Anjemi - Raigarh

(@) The Quorum for mesting of 71ty
Panchayat shull be 113 of elecied

= hﬂlmuﬂaﬁﬂnm of 5 caspal
vacancy in the office of Sarpanch ofa
Gram Panckayar, who will act as
Sarpanch?

A. Depuy Sarparch

B. A Panch elecied by the Panchy
smongst hemielves

C. Secretary of Gram Panchayat
D. President of Janpad Panchayar

B, W—W MHMMWNL
"I SIS ufZi'&rme;u
c. Wi -gf by & majority of not Jeas
PO 4 of the total members
79, Pl e e o orc thas 273 of tokal
“afes The President of Zile
e d e w | eense to hold the
ATTE R
B, mEYS, W g A
#

..r"r.-'_-__________'_———__
#0. Consider the following statements.

80, Faerifim st a0 B -

1) e crerrae sy s
PR 1 deh

{0 = et e v ¥ B
T w, e § i s
T W ST e R S A
TR T T
e T ¥ 20 w3 whe
=& A e T = e
e e £ ]

T wa S

A 1w
B. nwdty
o lERnTEEE A
D s nEF e h



N ___._________,___..——-—________1\‘

PARI" III

_.—-—-—-'___h-____‘—--__“\‘
— - R 1L ( 1 ATATA ATHERRT
General Information About
Computer
——fﬁ ST A
81. Arrange the steps to create a . e fafe ¥
multimedia presentation- (a) 9 T gﬁ
(a) Choose your tools (b) FaTeaAm Har
(b) Prepare an outline () AT EqET q1
(¢) Frame vour story s dfifgar e
(d) Start building and add media (d) W “Eﬁ
(e) Revise and edit (e) Pt g
A. ¢, b,ader A. ¢ b,ade
B. ¢,a,d,b,e B. ¢,adb,e
C. c,b,d,a, ey
D. ¢,a,b,d,e & F’b'd’&:
P c,ab,de
82. Match the following- 82. Prerferfer gafer FFRm)
Eile Type Extension IR Y T
o g Jpeg @ R @ IR
icture _.f-f'” avi &
(¢) Text— (III) mp3 (®) () T s
(d) Audio - —(IV) doc (c) T (1) TdT3
Choose the correct answer from the @) e av) g
options given below- ﬁﬁl{ﬂqﬁﬁ*ﬁﬁﬁ‘ﬂﬂmﬂi

A. a-Il, b1V, c-II1, d-I
B. a-1V, b-], ¢-III, d-1I
C. a-II, b-1, c-IV, d-III B. a-IV, b-I, ¢-I1I, d-II

D. a-II, b-l, ¢-IlI, d-IV Lo a-ll, bl c-1V, d-I11
D. E'II: b'I: G—HI, d-Iv

A, E"III b'wn c-[II, d-I

SPACE FOR ROUGH WORK / % w14 % férer oy

INKJ-RZ-REC-M s IR o 2
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_mt the correct answer. 83. e e
(a) Stﬂragﬁvﬂl?aﬂity of CD ig greater Em

than D (a) CD et tgar DVD & aifrF 817
(b) Storage capacity of RO ; ROM 1 it e g fh &
than Hard Disk. OMis less ©) —
0 mﬂi ot e equa (6) RAM 3 ROM s 0=
pacities, -
: . §) 7é fren o i e DVD #
(d) gf‘lr?;?“}? of Hard Disk is legs than @ w1 -
A. Onlya A Fada
i SO _B! ¥awb
C. Bothbandd c. paltddet
D. Bothaandb D 2 3 b

84. Arrange the steps to open an account 84, e I STHEE @Ie 1 7Y G-

on Gmail- [ﬂ) m Wﬂﬁfl

(8) Click create account 5 0.0 -
(b) Open Google and go to the (b) TR Gt STHISC

account page (c) ¥ AH ST
(¢) Enter your name (d) TS THEH e
(d) Confirm password () T 3N qaae T
(¢) Enter a username and password
Shir q A. b,a,ecd
By By 8G,
B, b,aced B. b,a,c,e,d
b, a¢de (ef)b, 8¢ d, e

. a,b,c,d, e D. a,b,c,d, e




85. In Excel, which chart type is effective

for displaying the relationship

between two numerical variables? &7

A, Bﬂ.l' Chﬁﬂ {‘A" ﬂT{qli

B. Line Chart ATET =TE

C. Radar Chart > ot

D. Scatter plot Chart gi G

D. mqﬁﬁz‘ﬂ'{f

86. What allows us to send identical aj_ﬁ/ )am:[ﬁt a‘lﬁeﬁﬁqﬁ a7 ﬁﬁ:ﬁ

letters to various individuals? 7 S5 T o

A. Mail Merge A REHS

B. Template B. oFwiE

C. Macros C el

D. All of the above }3/ T

87.

For the below Assertion [As] and
Reason [R] choose the correct
alternative.

Assertion [As] : DVDs can store
multiple video files.

Reason [R] : They have more storage
capacity and are Read only.

A. Both [As] and [R] are true.

B. [As] is true but [R] is false.
C. [As] is false but [R] is true.
D. Both [As] and [R] are false.

§7. 919 RuTTFU [As] R FT [R] F iy

wEt feed -

T [As] : A & F e St wriew
I Y ST Fehd 8

FROT [R] : STehT SIST e 2770 §
& {ie el St 8

A. [As] 3R [R] SRt e &)
B. [As]Wel &g [R] e R

€ [As] T @ g [R] WEl #
_..D.,_[As] ¥R [R] S Trera &1



J

—
Capacity of DVD runs in.

A. Megn bytes

B8, .o, o sy ot el B

. Giga bytes (K AT
C. Kilo bytes B fm e
D. Tera bytes C. forettame
D, A
39, Match the following- 89, WWW

Column-l  Column-II
(a) CPU (I) Input device
(b) Printer  (II) Brain of computer
(c) Hard disk (IIT) Memory
(d) RAM (IV) Output device

Choose the correct answer from the
options given below-

A. a1, b-IV, ¢-II, d-III
B, &I, b, c-IV, d-IT
C. a-IV, b-I, c-I1I, d-II
D. a-II, b-IV, c-], d-III

R w1
@ CPU -~ (n T
o Bz (D) TR
© mﬁfaﬁ-\_pm it
@ RAM (I 33eqe feared
A1y forg g et & & e 3 -
A. a1, b-IV, c-II, d-III
B. a-II, b-I, c-IV, d-III

C. &IV, b, c-II, d-II

0. &I, b-1V, ¢-1, d-IIT

. Primary memory is-

A. RAM

B. ROM

C. Both A and B

D. None of the above

90, st A P € &7




— e >
91. Arrange the memory in increasing 91. Hehdt e ; T
order, (a) HITETEC e

(8) Mega Bytes (b) Tera Bytes

e (@) IR
(c) GigaBytes (d) Peta Bytes (6 T

—d—¢
A. b=a—d—c A. b-ra
B. c=a—=d—ob B, c—a—d—b
C. c»d—a-b C. c—d—a—b

D. a=c—ab—d _P. a—yc—b—>d

= et %.s{_'""'-
92. Which PowerPoint view displays all 92. i RN 3 T b

the slides in miniature form, allowing v ¥ yeffd e &, @ 3 37
you to rearrange their order? Eo) E;r,—,ﬁa@a FTHH &7
A. Normal View A, A
B. Slide Sorter View -
BRI
C. Outline View
D. Notes Page Vie C. =
D. AHITH
93. YDHT‘JBE) TG --e 2
A. Snciai]mcmaplatmnn A, T e e
B. E mail service provider B. fﬂagﬁmm
lication
C. W;Tb :p: lc: io 3 A
D. All of the above
| D, 39rh auft
— SPACE FOR ROUGH WORK / 1% &7 % frdr sy =i ‘

0492 INKI-RZ-REC-M o NI s s




. Identify the input devices of

computer- 94, Wﬁwwm.

(a) Lightpen (b) Scans () WY (b) T

() Printer  (d)  Keyboard (0) fr @ s

A SSdbionly A, Fawra s

B RSN _B. a,bafid

“ o C. ¥awd

D. a,bandc o A

95, Armange the commands in sequence 95, P gt st & for Fred

for following operations. S

pom W o
| Save o

(V) Text alignment () B (IV)

(@ ctrl+v ) ctrl+c (V) ¥ HeETHE

() ctrl+s (d ctl+p (a) ctrl+v (b) ctrl+c

(¢) ctilt+e (¢) ctrl+s (d) ectrl+p

A. bosa—rd—c—oe (e) ctri+e

B. a—c—ob—re—d A, ba—rdoc—ore

C. 'b=d—cra=se B. a=c—b—re—d

D. c=»d—ob—oa—e L,

D. c=2d—>b—o3a—e

SPACE FOR ROUGH WORK / T% #1d & favay sy

gCM o NIMITNANHOE o sein



06,

For the below Assertion [As] and
Renson [R] choose the correct
nlternntive-

Assertion [As] : Oporating system is

software program that enables the
computer hardware to communicate
and operate with the computer
soflware,

Renson [R] : Windows is an open
source operating system,

A, Both [As] and [R] are correct and
[R] is correct explanation of [As].

B. Both [As] and [R] are correct but
[R] is not the correct explanation
of [As].

C. [As]is true but [R] is false.
D. [As]is false but [R] is true.

A, [As] 9T [R] &1 TET L [R], lhy
77 g8 o &l

B, [As) ¥ [R] 3 T8 8T [R) 1y
1 o o T R

e TAg i g [R) TR A

D, [As] e & Utg [R] TET

97.

Which of the following is output
device?

A. Keyboard
B. Mouse
C. Light pen
D. VDU

-

97, e it & e oTeEE @y

A, #raEE
B, W=
C. W

D drdg



\ 95.

= il
Identify the types of printer.

(8) Dot Matrix (b) Scanner
(c) Inkjet (d) Monitor
A. bandd

B. a,band ¢ A. bafitd
C. aandc B, a,baftc
D. a,bandd e aslie
D. a b3fid
99. Which is not a search engine? 99, e T 39 T8 87
A. Google
A, T
B. Yahoo! B, T
C. Microsoft Office |
N ETIE HfhE
D. Baidu i
D. 9
100. Multimedia is used in- 100. gZiffEar = 394 BT 8-
A. Social work A. gt
B. Animation effects B Qﬁﬂmm
[l Tﬂﬂﬂhiﬂg C ﬁ_m_r

D. All of the above

= e ——————

TR DS ot



